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In Part (A) Multiple choice
Question No. 1 has three parts. ' '
questions, in Part (B) Fill in the blanks and in Part (C) Write trye /

false are given. Each question carries 1 mark.

i

(iv) T 2 & 6 o R g I 5 B S T W2 A

HATEfed B |
Question No. 2 to 6 are very short answer type questlons Each
question carries 2 marks.

(v) TAEAH7E Ioamawﬁtagzaﬂwmél Y% T W 3 3F
Frafed &

Question No. 7 to 10 are very short answer type questions. Each
question carries 3 marks.

(vi) TEFE 113 14 76 TG 0 T 8 T T SHiaRe e
{1 ¥F T T4 I AEfea

Question No. 11 to 14 are short answer type questi_ons. Each
question has an internal choice. Each question carries 4 marks.

(vii) mmlsqﬁma@mm&ﬁmmﬁmﬁmm
T W W 5 3 Afea |

Question No. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.

(vii) mmnqalsa‘rﬁaﬂﬂam%] mmﬁmﬁwﬁmm
Y® T T 6 ek Arafed 8§

Question No. 17 and 18 are long answer type questions. Each
question has an internal choice. Each question carries 6 marks.
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W1 (@SS - ) Wl e g R [1x5=5]
| (Part — A) Choose and write the correct option:
() TEwRx-9FEEE:

& G3 & (3,3)
® (3,-3) @ G0
Zeros of polynomial x* -9 are;
@ @G3) (b) (3,3)
(if) @S ¥ e farunt o) e gl #:
(3 16 @ 13
@ 8 @ 9
The total number of diagonals of the cuboid is:
(@ 16 (b) 13
© 8. @ 9
(iii) sin?70°+cos>T0° T AT &
Gy -1 # 0
@ 2 ® 1
Value of sin> 70° +cos> 70° will be:
(a -l (b) O
© 2 @ 1
(iv) | W@r ym?x-l-% &6 gt B
M 4 ® 5
-4 .3
) 5 O] 5
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4 3 i
Stope of the straight line y = -g»x +3 will be:

(a) -4 (b) 5
4 3
(c) < (d) 5

o e x2 - x ~ 12 =0 3 9} o1 TR B -

& 1 @ -1

@ 12 @ -12

The product of roots of Quadratic equation
x? —x-12=0 will be:

(@ 1 (b) -1

(c) 12 (d) -12

w1 (@vE - ¥) Raa v g i
(Part - B) Fill in the blanks:

()

(iir)

@ﬁ%mﬁaﬁfﬁﬁwﬂmw
FER_ AWHROTI A

Each side of a regular decagon forms an angle of
degree at the center of the circle.

Afgadwrony_ adard

Financial year starts from _____

7R x=2y=4 g el Tx-4y=p ¥pw®
W wm

If X=2,y=4 thenvalueof pis __inthe
equation 7X -4y =p.

[1x5=3]
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(iv)

v)

&m(?(i%ﬁ) ®HE W
Value of €0s{90 -0) will be

FAHE AT ward

Degree measure of a circle is |

T¥-1 (802 - §) ey Irvan e fafea | [1x5=5]
(Part — C) Write True or False:

(i)

(i1)

(in)

(iv)

v)

Fereht T 36 wreer w3t v e sed TR &
TSR & SRISR &Y &)

The multiplication of the mean terms of a
proportion is equal to the multiplication of its
Extreme terms.

T0 % T € GUs & T R0 TG TR A R

Angles in the same segment of a circle are equal
to each other.

mnﬁmmﬁmﬁaﬁﬁ%@éw
FE B

The amount on which the interest is calculated is
called Principal.

afe faredt farg & fdwian (4, 0) R, A a® y-amr @
fewrer g

If the coordinate of a point is (4, 0), then it will be
located at y-axis.

wqder & TR 0T 1 AT 180° BT &

The sum of the interior angles of quadnilateral is
180°.
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T -5

wH-6

-7

TH-8

W e AR

sin64°- cos 26°

Find the value of

sin64° - cos 26°

R (3,9 T(2,9) £ £ g0 R
Find the distance between the points (-3, 2
awiet 32 10, 13, 16, 19 —— F10 gt @ Fra I
Find the 10 term of the Arithmetic Progression

10, 13, 16, 19 —--.

qER X2+ 3x + 2 T PREE RNY

Factorize the polynomial x2+3x+2.

39, 78, 33, 86, 39; 33, 32, 33 ‘

Find the mode of the following data:
39,78, 33, 86, 39, 33, 32,33

it aftaor 2x% + 5% +5 = 0 & el ) vy g
Find the nature of roots of quadratic equation

22 +5x+5=0.

afe 55 Qe o O T@rEE A 2:3:6 F v ¥ el vy
FA I IAF WPT L A fhert o

If a 55 cm long line segment is divided into three parts

in the ratio 2:3:6, then what will be length of each part

)and (-7, 5).

12}
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R T Ty I iy

The ci
Ircumference of the base of a right circular cylinder

i 22 cm and its height i
1ght 1s 10 cm. Fir - , .
of the cylinder. Find the curved surface

.10 e & :
e mw%4m+9‘{*m%%¥ﬁam@ 3]
FL
‘;1;‘\;2 :har 4m+9 is an odd integer, where m is an
SE-11 UH TRET R 5 WA de T fp o e o s e, & [4]
et ¥ d g,
HHTE 11213 47]s
SR (EIm | 1121 3 | 4 1 5
HHTE AT I9ANT FoR 1T warrr Y 97T % it et @Y
Quantity of Onion (In kg) used by a family for 5 weeks
are given in following table:
Week 1123 | 4 5
Quantity ofOnion(Inkg) [ 1 | 2 | 3 | 4 | 5
Draw a graph between week and Quantity of Onion used.
Har
OR

Y g (7, 10) 3 ek & Pt e 2
Wﬁﬁ%xwmmmymﬁﬁ ,
One Line whose slope is -g. passes through the point

(7, 10). Find the x-coordinate -of that point whose
y-coordinate is 5.

N T T T
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WE-12 ﬁgﬁmmmuﬁmmssomﬂﬁm 14
Ta = 10 At

. 3
Find the height of the cone. If its volume is 550¢m and
its diameter is 10 cm.
FAFT

OR

2 eft Frear et 64 Tiifert Y et o wgT Tl ST
Tm 32 M i fiear 3 Fifkg

A big sphere is made by melting down 64 small spheres
each of radius 2 cm. Find the radius of the big sphere.

T¥-13 aﬁmimamksqa%mmﬁrywqm@ﬁ 4]
asxzaﬂ%m%'mﬂﬁrﬁ,w:séﬁrwmwmt
at TR 3T RS F T gra Fifry
Chord PQ and RS intersect each other at point T which

lies outside the circle. If TQ =3 ¢m, TP =8 cm and
TS = 4 cm then find the length of TR and RS.

AYar

OR
- ez g o s wmtor Boget 3 ot ot e @t vt
& it & 9 & [ e &)
Prove that “In a right angle Triangle the square of the

hypotenuse is equal to the sum of the squares of the
remaining two sides”.

e 11 11111 (1111 /ees
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TR | 10 | 7V | 40-50 | 5060 [ 60-70
L | 7_. 4 4 3 1
__ - the follow
Class: Ty l&zg%g table:
| 2030 [ 3040 o6
Frequency: | 10T : 40-50 | 50-60 [ 60-70
4 4 3 1
Aoay
OR
ﬁwm@m%maﬁﬁm
T o1 _
= _0 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
el s s 20 3 w09
Find the mdlan of the following table:

Class: 0-10 1 10-20 { 20-30 | 3040 | 40-50 | 50-60 | 60-70
Frequency: | 5 | 15 | 20 23 17 1 9
W15 58 oI It g g ABC #t e fifg W 51
U I Taag Bgar PQR Y e fifse wwi PQ:%AB
Construct an equilateral AABC with each side 5 cm.

Then construct another equilateral APQR where
)=2AB.
5
OR
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PQR W& &t finger & Rt £2Q=90° Ak PQ=6 -
it T QR = 8 At &, 7 5w Py & wiora W T T A

- Forar e oy o & v ot Rafg
PQR is a right triangle in which ZQ=90°. IfPQ=6

cm and QR = 8 cm, find the radius of the circumgcircle in
the triangle. Write the step of construction also.

W16 3 S 200 v wfowre @ 5 o & g et smr I5]
AT G AR S 7T 5% AT a a5 e W
Ravi opened a recurring deposit account in bank of
Rs. 200 per month for 5 years. If the rate of interest is

5% per annum, then how much amount will he get after
5 years? https://www.cgboardonline.com

T

OR .
faefiar o 2014-15 % w o abartt &t it 3 (T
farrar v SsHT) 40,000 %, ¥ 9% 42,000 T, NEFE THRT
wfares ffty 3 srm o & e 6,000 €. Y aredarfie Rfem

af¥r o g it At €T 1,00,000 7. 3
IR R e

1. |2,50,000%. o - | o s

2. 12,50,001 %.9 5,00,000 5. % 10%

3. |5,00,001%. 7 10,00,000 % 7% 20%

fave 3w . A AEEC AT 3%
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The monthly incon

a bank etli;:mm? (excluding house rent allowance) of

Rs. 40,000 Hggi o the financial year 2014-15 was

provident fund ar POsIts Rs. 42,000 annually in general

Life lnsumnce Ia:; d- Rs. 6,000 as semi-annual premium on

All savine _0} icy. Calculate the payable Income Tax.
VINES maximum of Rs. 1,00,000 are tax-exempt.

e The rates of Tax are as follows
>. No. Tax Limits Rate of Tax
1. | Upto Rs. 2,50,000 Nil
2. |Rs.2,50,001t0Rs. 500000 |  10%
3. [Rs.5,00,001 to Rs. 10,00,000 20%
Education Cess : 3% of income payable tax.
frea Fifore - y 161

cosO sin(90°-0)
: . 4 = () -
o000y 71 " cosect1 "D

Prove that -.
s@c(;;si)—l:l * 21:(:9-;9]) =200t(90°-6)
HYTT
| OR
AR GRFRUFERTFWI6H AW
QS T 27 foeT ST & 60° T oy A A R

¥g $t dar g Al

A tree breaks die to storm and the broken part bends so
that the top of the tree touches the ground making an
angle 60° with it. The distance between the foot of the tree
to the point where the top touches the ground is 6 m. Find
the height of the tree.

T W
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WH-18 1 3K 100 F e of yrpa GEarS) F ATES I A,

St 3 H TR En
Find the sum of natural numbers between 1 and 100
which are divisible by 3.

HYQT

OR
it g hifang
x+l_x—1=z;x$1,_l
x-1 x+1 6
Solve the equation
:~:+1_}|:--1=_5_;:‘{:;E1”__1
x-1 x+1 6

F 3 3 234 24 22 &3
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